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22— K Bh 4 FiR | PSR (kg) & (M) =i g 2l PE (Hf7)
Y3011 BAM (F) 2 734 540 540 108 | BN 2kg
31700 | % v~ 40 1,188 | 324 324 216 | B 4 —%
31900 ¥ 15 6, 134 | 594 540 216 | B 15kg
34300 72 10 877 22 18 13/ BM 514
34308 BEAF 12 972 16 16 UER) 607
34330 E7pd 4 864 43 43 13| BH 2074
734100 B 161 | 29, 957 54 49 13| B 8054
34200 L 15 756 32 32 11 BMN 30(H
34200 L 80 %76 97| 97 97 | B 80kg
34500 B—< 39 5,746 162 162 108 | B 30kg
34500 F—<y 17 1, 253 22 22 22| BN 5848
34571 STV B (R 2 972 108 | 86 86 | B 108
34572 RTFU A (E) 1 713 | 108 | 108 86| B ME
Y3033 ZoMARL 89 15, 830 324 | 162 119 | B ™ 89kg
36200 E85E 50 3,888 | 97| 65 65| BN 50kg
36600 7-Eh X - 50 4,428 97 97 81| BMN 50kg
34930 LA 185 24, 264 65| 54 11| BW 6184
34980 ~bE | ; 36 178 11 1 1 BA 120K
35940 ‘EVETELE ) j 130 87,750 1756 702 540 | B PN 130kg
34800 #< 5 | 66 16, 648 38 16 16| B 662% v h
36340 T LNXEFE 21 8,413 486 486 HER 21kg j
37600 A x 9N 2 1, 307 594 594 594 | BN 2kg
48000 VA 348 40, 219 864 432 216 | BN 70{H
Y4010 /hEFVA g ; 52 8, 856 | 378 | 324 324 | B 26(H
49470 Ry T L—Y B ! 78 59, 664 | 119 76 43| BN T719(8 ‘
71010 K% é 2, 700 27 | 27 27 | BN 1004
71011 A 7L —% ‘ 29, 246 43| 12 11| B 1, 500K
71030 K5 &+ 3,078 43| 38 32| B 8ok |
71040 ENE 2,398 65 65 32 BN 384
71150 | LiE 2, 662 70 43 11 BM 71
71179 ¥ hF 86 22 22 22 B 43
21189 A b 3, 607 o7 27 17 BH 1604
71286 Za—HL 9, 666 146 146 130 | B 704
53101 % L K4R g 2,268 1,188 1,188  1,080| &M 2kg N
30100 722 A L 50 6, 534 146 146 108 | dbifEiE 504
30300 A% L 130 9,504| 1,728 432 432 | E % 134r—3
31100 A3 | L ’ 75 4,752| 1,080 864 864 | & B 54— 2
31200 | [LE3E g 3,564|  3,564| 3,564 3,564 FELAE 14— %
33500 YT HE L 1 756 756 756 756 | %@ [H 14— 2%
33500 5 A L 1 259 22 Be 22 | &M 1248
33810 HEX 4 1,296 65 65 65 |2 I 208 |
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a—F whh Hik o PER (kg) 448 (M) s | bl R b (BAL)
37440 [ svbhu 5 896 896 | 896 896 | IR 5 1r—=
Y5005 &AKEAN 10 0 3,067|  1,534| 1,534  1,534| K4 247 — R
31700 F xSy 270 2,916 108 | 108 108 |4kt d 27 — 2
31730 |7 U — il 10 108 108 108 108 | E B 17— 2
31800 1EHNAE ’ 5 2,538 | 119 97 97 | £ 5T 254%

31930 ZaX S 3 324 | 11 11 11 8 3048

32800 [I2 6 ’ 9 1,512 76 76 76 | H 207

32800 |12 & S 5| 540 11 11 NE 503

34300 724 ] 40 8,424 1,296| 1,080 432 | REAR 84 — A
34330 Eod 3 756 76 76 76 | Bl 1048

34400 k= k - M 12 3,888  1,296| 1,296 1,296 BEA 3ir—RA |
34400 b= k B 20 4,536 1,080 756 756 | K4y 54—
34460 I=L E L 2L 13 8, 554 130 130 130 | K4y 66/% 7
34460 (I =Lk k 5 4,925 205 205 205 |EIR & 243y 7
34200 [ I 80 864 108 108 108 | BB B 84 — R
34500 E—< 2L 5 324 11 11 11| K4y 304% ]
36200 FEnEE L 10 648 648 648 648 LR & 14—
36210 A—2 A (%) oL 10 540 540 540 540 |BEA 1r—2=
36600 7—EnE 25 120 2,592 540 540 324 | B B —2A
37200 L x 9 A8 2L 4 1,188| 1,188 1,188 1,188 T 17 —2
33400 L Z X L 54 10, 809 65 59 59 | E5 1801A
33300 | TRyl — 24 7,506 108 108 65| 7 AN 80

38100 A L\ /=it 10 5, 832 65 54 54| I 100/5 > 2
33100 |7 A/5F 4 A B |S 680 43 11 11 |fEA 333

31500 /AZE 1,728 86 86 86 |EEIR B 2048 N
32500 HoiE 605 43 43 43 | K45y 143

37560 BT 1 4,374 486 432 432 | K4y 103y 2
38400 X DEE 15 3,132 24 24 17| = 1508 |
138521 RALDLUE 6 3,726 108 16 16 | &M 6045 }
38604 = . XE 3 3, 240 108 108 108 | 1% 3048

45220 T T T 2 1,426 238 238 238 BIRE - 6%y
45240 EA—2%RLE 5 2 2, 646 378 378 378 | & T8y
4500 T H b 1 432 | 216 216 216 | 1 [ 2%y s
Y4039 R hAmy BE 648 216 216 216 IR 3(E ]

- AF 2,528 507, 687




